Hundreds | Tens : Ones

Hundreds | Tens  Ones

12 Multiplication Table

110 p¥aN 132

120|132 pEZ

Year 4 Integer Number Line > 1 2 1 0
MNegative Integers Positive Integers 2 1 0 2 1
-+ | 1 | | | | | | 1 » :
N um [b)@[f“ ﬁalt —; —é —|1 c]| 1I 5 3I ; Cha cha slide to the Cha cha slide to the
t left x 10 right < 10
Zero is neither
positive nor negative _ ‘
Cha cha slide to the Cha cha slide to the
Tth Th left, slide to the left right, slide to the
Ten Hundredths x 100 right =100
Thousands Thm::::ds 0.01 — — - -
1
10 000 =
3x6 = 18
3x60 = 180
1 | il X1 thrge times | _ -
2 1l 20 XX six tens
3 1l 30 XXX 3 % 600 _ 1800
4 v 40 XL
5 v 50 L 4 digits + 4 digits t.hree times | _ o1 dreds
6 Vi 60 LX 4 digits - 4 digits six hundreds
7 | v 70 LXX 3 didits x 1 digit
8 Vil &0 LXXX QIS X 9]
9 X 90 XC 2 or 3 digits + 1 digit (remainders)
10 X 100 C

Round to nearest ten
6/13— 60
6]5— 70

51214 — 520
5(2]8 > 530

Round to nearest hundred
4[35 - 400
462 — 500

71328 — 7300
73|56 — 7400

Nearest... whole
13.8 14
2.2 2
Number Nearest 10 Nearest 100 Nearest 1000

3/5 of 150 =90

6/8+7/8=13/8=15/8

150

30|30 |30 30| 30

12/8-7/8=5/8




L en gth. A Linc Graph to Show the Temperature of the Classroom A Pictogram to Show How the Children in KS2 Travel to School A Bar Chart to Show How Many Pets Y6 Have
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1 kilometre = 1000 metres km

1 metre = 100 centimetres
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1 centimetre = 10 millimetres . . ' s
cm r 5
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= mm 532 1 Walk Bicycle Car Bus Tram Train Other ;
Types of Transport Cat Dog Fish Rabbit Other
M aSS 30 . . Type of Pet
_ - . o o
1 tonne = 1000 kilograms t n . Statistics
1 kilogram = 1000 grams hg
26 T T ¥
B . _ X—axis :
1 gram = 1000 milligrams Time Types of Quadrilateral

@% g How many more ___ than _ ? parallelogram trapezium rhombus
mg What is the difference between Ty pe S Of Tr'ia ng le / \

W...Lm.‘m
CapaClty —_— and—? isosceles
" — . 2 pairs of equal sides All sides are equal
1 I,[t re = 1000 ml,“l,llt res l HOW Iong unt’l'" ? Bql.l.i.l.lltﬂl'ﬂ.[ Diagonally opposite angles are equal 1 pair of sides are parallel Diagonally opposite angles are equal

rectangle i square

1 centilitre = 10 millilitres . What is the total...?

ol

po] _, [io
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M @agu [r@ m@ nt 2 pairs of equal parallel sides 2 pairs of sides of equal length 4 equal parallel sides
3 equal sides 2 equal sides 4 right angles (90°) 1 pair of opposite angles is equal. & right angles (90°)

3 equal angles (60°) 2 equal angles

half past three in the afternoon right angle scalene

rea & Perimeter

Perimeter (P): The distance around

Right Angle - a square 90°.

Geometry

L
L
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. :
: . One angle is a right angle (90°) All sides are different
' . th& DlﬂSld& Of a Shape Two other angles add up to 90° All angles are different. Obtluse Angle - is greater than
l * The longest side is called the a right angle but less than a
b 3 unite P = Sum of all cides straight line (as anything over
hypotenuss, ‘W 180° is a reflex ungk:e) ’
P = St4H+Zea+d rwin '

i
Ll
= 20 units
Time P =2 x side + side) iy
- 2 units 4 o |
1 century = 100 years :;ts:, _— Coordinates Rt n‘:‘gglf'“ smaller than a
- 3
1 decade = 10 years Area (A): The number of square ) Lines of symmetry
1 year = 365 days (366 leap year) units inside a shape. & = iength x width s
1 week = 7 days o, 3 : . \ \ ,
T 1 | 1
1 day = 24 hours ) o find the area of 2 i Sl L :
an irreguiar shape: Lo ___ e _ _ Ny __ __ _ _
1 hour = 60 minutes A=3x4 vkt roctmpie. 1 (3,1) I /’!'\ +
) A = 12 square unite cach thenfind the A= +9 L SN

1 minute = 60 seconds wize total A = 27 square unis I I I




